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He placed ten and found nine; it is a dispute between 521 and the 323".

OVERVIEW

The X713 compares the case of 'v X¥m1 " 17177 (where he placed ten pieces of ynn and
later found only nine) to the case of 7in X¥m1 o»nXn 1°17 (where he placed two
hundred 117 of w"yn and found only a hundred). In the latter case 27 maintains that
the 7an 1s w"vn (for we assume that the lone remaining 71 was part of the original
0> n&n), while the 0°non maintain that the remaining 717 is P21 (for whoever took
away the money took everything away and the 711 that was found is a different
T [12m)]). It is not clear what the ruling should be here concerning 11p°72, where
we are certainly missing (at least) one piece of yn. Our N901N addresses this issue
(in accordance with *"w").
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For 27 follows his reasoning elsewhere, where he maintains; ‘the grave which
was lost is the grave that was found’. Therefore here too 21 maintains -
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Since he found one piece of v, he is not required to search any further, for we

assume that the piece of ynn which was initially lost is the piece of y»n that was currently found.
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However according to the 3129 he is required to search until he finds ten pieces
of ynr (besides the nine he presently has) as '@ explained.

mooin qualifies this ruling:
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! Granted that according to *27 the nine remaining pieces are from the original ten, and we need to find only one
piece; however who is to say that the piece that was found is the piece that was lost. Perhaps a different (eleventh)
piece was found (which we were unaware of). n1901n addresses this issue.

* This refers to the previously mentioned np>mn with 3"2w1 concerning a 72p 72 TR 77V

? We derive from the X5°0 (of D*nXn °37) that the nine are from the original ten and we are missing only one piece;
we derive from the case of 121 7281w 77w that the piece that is found is assumed to be the piece that was lost (and no
further 7>72 is necessary).

* They maintain that the nine are different pieces from the original ten; therefore there are ten pieces missing. See
‘Thinking it over’ # 3.

3 It would seem that these 1127 agree to °27 that X¥nIw 72p K17 728W 12p; otherwise how can we be sure that these are
the original ten pieces. See ‘Thinking it over’ # 1.

%y ",

1

TosfosInEnglish.com



m°17 7"7 '01N X,> 0°nos .7"'02

And we are discussing a case where all the loaves are tied to each other,

similar to the dispute between 31391 52" -
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For "wX 27 states in the first P95 of 7%%2 n>on that the dispute between 71271 °27

concerning ¥"vn is only if the purses were tied to each other -
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However when they are not tied to each, all agree that 11 and @''y» are

intermingled with each other. The same applies to the loaves. If they were not attached

then all would agree that only one was taken away, and only one needs to be found.
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And even though that now (since we are saying that all the ten loaves were
attached to each other) we cannot ascribe it to mice9, nevertheless we can ascribe
it to small children (the o°1p were able to untie the loaves from each other).

SUMMARY

’17 maintains that (in the case of v X¥m1 " 11°377) he needs to find but the one piece of
ynn that is missing, because 27 rules Y0 73 17 71 (therefore only one was
lost) and Xx21w "2p X137 728 N3P (therefore the found loaf is the lost loaf. The
loaves were 1"21 20 (otherwise the 2’251 would also agree that [only] one loaf
1s missing) and nevertheless we assume that a ju may have untied them.

THINKING IT OVER
1. What would be the ruling if ywn X¥m) Wy 1°17 according to 3" (in the Xn»™12
of 12p 712 T 7w)?™

7 This applies to both cases of the xn»12. He was 132 a 7 in one ©°3 and found two 22 in two 2°0°> which were
tied to each other. °271 maintains that someone came and added a ©°3 and tied it to the original ©°3, while the 021
maintain (since these two 0°0°2 are tied to each other and the original 0> was alone) that the original 03 w"vyn was
removed and these are two tied 0°0°3 of P72 myn. In the case where he was 0 n&» 1°1 and found a 7, the original
DR were in to 2*MWP 0°0°D, and *27 maintains that someone untied them, took one, and left one over, while the
051 maintain since they were tied together, whoever took it away took them both.

¥ This refers to the case where D>nxn xxm) mn 137, Here (even) the oan will agree to *27 that someone merely
added a 7n. In the case of man Xxm a»nXn 1717 (if they are not @>MWwp) the oo will agree to °27 that 731 n1n 7
oon.

? A mouse cannot detach one loaf from the others. Why does 27 assume that these nine loaves are from the original
ten?!

' See ow 56 7w WK MOIN and KXW 727,
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2. What would be the ruling if "> X "0 m°17 and they were not 1"ar a™wp? !

3. The 1127 maintain that if he finds ten pieces, that is sufficient; why are these ten
pieces that he finds any better than finding just one piece and adding it to the nine
that are there?!"?

1'See 2 "0 "y yIpa TR X" WA,
2 Why do we assume that the pieces that he found are the originals and the pieces that remain are not the originals?
See XMW 127 and 707 K.

3

TosfosInEnglish.com



